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QUESTION 1

A service has a null encapsulated SAP and a vc-type vlan\\' SDP. What happens when the SAP receives an untagged
Ethernet frame?

A. The frame is dropped.

B. The service ID is added as the provider VLAN tag.
C. AVLAN tag of 0 is added as the provider VLAN tag.
D. The frame is forwarded with no provider VLAN tag.

Correct Answer: C

QUESTION 2

What is the default priority value used for electing the DR on an Alcatel-Lucent 7750 SR running OSPF on an Ethernet?
A. Priority of O

B. Priority of 1

C. Priority of 64

D. Priority of 255

Correct Answer: B

QUESTION 3

What is the source IP address in an OSPF update?

A. 224.0.0.5

B. 224.0.0.6

C. The unicast IP address of the interface the update is sent on
D. The system address of the router.

Correct Answer: C

QUESTION 4
Which of the following commands can be used to compare the VC MTU signaled between two PE routers?

A. show router route-table
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B. show router Idp bindings
C. show service service-using
D. show service egress-label
E. show router rsvp session

Correct Answer: B

QUESTION 5

Which of the following statements regarding LSP path configuration are true? (Choose three)
A. The path must include at least one hop.

B. The path may be used multiple times in a single LSP.

C. The path may comprise loose hop entries only.

D. The path must define the LSP\\'s tail end.

E. The path may be used for multiple LSPs.

Correct Answer: CE
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